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The
absorbed by plants along with Zn and

element which is generally

causes “Ouch Ouch” disease in human
beings is

(a) Tin (Sn)

(b) Cadmium (Cd)

(c) Mercury (Hg)

(d) Chromium (Cr)

The recent Supreme Court ruling
about the limitations of the powers of
Lt. Governor of Delhi vis-a-vis the

Chief Minister of Delhi
making news. In this case, who out of

has been

the following was one of the defence
counsels for Aam Aadmi Party ?

(a) Ram Jethmalani
(b) P. Chidambaram
(c) Dushyant Dave
(d) Mukul Rohatgi

What is meant by the term “Oilzapper”
that we frequently hear in the news ?

(a) It is an eco-friendly technology
for the remediation of oily sludge
and oil spills.

(b) It is the latest
developed for
exploration.

technology
under-sea oil

(c) It is a genetically engineered high
biofuel-yielding maize variety.

(d) It is the latest technology to
control the accidentally caused
flames from oil wells.

3.

(A-2)

Ufendt €% Zn © a®%-8'% fagz™ 33
Afonr #er I fAR % fesrst feg

“w8g-M™G8Y” (Ouch Ouch) HHHT
Fet 39

(a) fex (Sn)

(b) SBHMH (Cd)

(c) HIAST (Hg)

(d) FIHMH (Cr)

T wifteg 39, ANt wrfeor wifad
SHY yggr g T e wieHt utget
et fer qF &9 Udeer J9 %

et f@g ffa Wy v I fefimit
e fam = 7

(a)  TH AOHSBST

(b) t. foeHgaH

(c) Tz e

(d) HIS I3t

yggt feg waRd HE AT T

“Oilzapper” T of H3%g J?

(a) feg fex Ta-eIz8 fedt I fAm
3% 3% T A%H M3 % JT 3% o7
Bugrg 3T AeT I

b) feo fex =< fedt T fAR &
AHET Jo8 3% § Bfgnr Afer J1

(0 feg fex Hat = genetically
engineered <1 faAH I AR &%
U gfeG-Stus gser J|

(d feg 3® € yo© <9 TIwa<H
BT TH WiaT Y FIS € B
fedt T
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What is the difference between a CFL
and an LED lamp ?

1. To produce light, a CFL wuses
mercury vapour and phosphor
while an LED lamp uses

semiconductor material.

2. The average life span of a CFL is
much longer than that of an LED

lamp.

3. A CFL is less energy-efficient as
compared to an LED lamp.

Which of the statements given above

is/are correct ?
(a) 1only

(b) 2 and 3 only
(¢) 1and 3 only

(d 1,2and3

International Union for Conservation
of Nature (IUCN) considers a species
to be ‘critically endangered’ if the
spatial measure (extent of occurrence)

is estimated to be less than _
km?2.

(a) 50
(b) 100
(¢) 150

(d) 200

(A-3)

CFL 73 LED &Y (Lamp) f<9 ot g9

J?

1. 9Far U J9s ®E, CFL U<
(mercury) © SUJT (vapours) W3
TAST T fEAsH® 9o I ni3
LED AHt-I8acd = fersH®
T J|

2. CFL @& »A3 €49 LED 3 fa3
Jg J<t J|

A —. v

Sudaz feg faost/faadnt Aeehe

~

(a) d=% 1
(b) &% 2 M3 3
(c) d=% 13 3

(d) 1,273 3

399 (IUCN) © nighg fan & i<
QuUATSt (species) @ Tigid U3

(critically endangered) f@T HiemT 7T
J 7 BT AESE HU (MdACE ne

MIIH) wiews km? 3 ufe
9

(a) 50

(b) 100

(¢) 150

(d) 200
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Consider the following statements
about an estuary :

1. An estuary is the place where the
river fresh water meets with
ocean water.

2.  This area is highly productive.
3.  This area is highly unproductive.

Which of the above statements is/are
true ?

(a) 1only
(b) 2 only
(c) 1and2only
(d) 3only

Compounds of cause Minamata

disease.

(a) Mercury
(b) Cadmium
(c) Cobalt

(d) Fertilizers

Consider the following statements in
the context of the Clean Energy
Ministerial (CEM) :

1. It is a global forum to promote
policies and programmes that
advance clean energy technology
and to encourage the transition to
a global clean energy economy.

2. India is a participating nation in
the Clean Energy Ministerial.
3. India has denied to participate in

the programme ‘215% Century
Power’ under Clean Energy
Ministerial.

Which of the above statements are
correct ?

(a) 2 and 3 only
(b) 1 and 3 only
(¢) 1and 2 only
(d 1,2and3

(A-4)

TS (Estuary) 979 Jo &8 86 @

1. feg 89 Aqr T fiE =<t & 3777
UTE AHEd € UE 5% fHeser I

2. feg  y¥39 g3 G3ued
(productive) JeT JI

3. feg w39 fowa®w G3uwa
(productive) &d° JeT JI

Budas fed’ o3z s AT T57

(a) d=5 1
(b) oA=H 2
() dA=H 1M3 2
(d) o= 3

33 v fyags feHer

(Minamata) STHST €7 IJE g&< I67

(a) HIFII (Mercury)
(b) SBHWH (Cadmium)
(¢)  SE®S (Cobalt)

(d) y=’ (Fertilizers)

IHE MEIAT HatAeIm® (CEM) <

Auu 39 I fou fanrst (statements)

feg faas™ AIT T :

1. feg me @EIFF (Clean energy)
vid TuBE ®HE AEFT wmE

IBTS SIH J|

2. II3 JHE MEIAT HATHSINS
(CEM) feg fIrr &= % ©1 J|

3. 9II3 JHE MEIHT HOTHSINS
(CEM) T nidts 215 Agdt ues’
YargH €8 HIa3 &dt a9 faar|

Budas feg' fxaz faws (statement)

AT I5°?

(a) O<H 23 3

(b) =B 13 3

(c) O=R® 13 2

(d 1,2m3 3

Atter

s
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With the Wildlife
(Protection) Act 1972, consider the

following statements :

reference to

1. It was formed in order to fulfil
India’s international obligation
the

Biological Diversity.

under Convention on

2.  As per the law only a part of the
wild animal is considered as a

wildlife trophy.

Which of the statements given above

is/are correct ?

(a) 1only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

Kanjli Wetland is in which district of
Punjab ?

(a) Kapurthala
(b) Moga
(c) Tarn Taran

(d) Fazilka

9.

10.

(A-5)

da@r  dle  (FIftmm)  nige 1972

(Wildlife (Protection) Act 1972), I

Jo &3 faaT (statements) & AJT AT

%3 JE HYUt Uy &9 :

1. feg nige 393 & nizd-IHeSt
finsat § y9r 3395 € BYH &%
Convention on
Diversity © MUe g&fenT famr
A

Biological

2. Tp& WEAY fHIg Hawt HiT =7
fdar It Agt zaet  (Wildlife
Trophy) Hfenr AfeT J1

Budaz feg fxost/faadnt Aeehe

(a) A% 1
(b) oTH2
() 13 2%8

d) 1wm3 2 feg agt <t &at

BB % (Kanjli Wetland) ¥A™S €
fagz fas feg T2

(a) AYJEH'

[

(b) Harr
(¢) 3J6 IS

(d) efasar



11.

12.
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Regarding the new MSP of Paddy 11.
declared by the Government in July
2018, which of the following
statements are correct ?

1. MSP of Paddy (Common Grade)
has been increased by ¥ 200/- per
quintal and of Grade A variety by
< 160/- per quintal.

2. MSP of Paddy (Common Grade)
has been increased by ¥ 160/- per
quintal and of Grade A variety by
T 200/- per quintal.

3. The new MSP of Paddy (Common
Grade) and Grade A variety is
< 1750/- per quintal.

4. The new MSP of Paddy (Common
Grade) is ¥ 1750/- per quintal
and of Grade A is ¥ 1800/- per
quintal.

(a) 2 and 4 only

(b) 1 and 4 only

(¢) 1 and 3 only

(d) 2 and 3 only

12.

What is the zoological name of the

State bird of Punjab ?

(a) Accipiter gentilis

(b) Antilope cervicapra

(¢) Dalbergia sissoo

(d) Eichhornia crassipes

(A-6)

AId & goEr 2018 @9 38 T a<f

We e ydie ¥® (MSP) midfent J|

Jo fefimt 357 fer g9 faoz =Es

AT I5 2

1. 33 (FHG J98) = WS we ydle
H® (MSP) 200 quE Y3t I
3 J98 T IJfEdt = Ul ue
ydte H® (MSP) 160 Juz ys3t
Sfecm zurfen famr T

2. 3T (JHE I93) T UfE U ydte
H® (MSP) 160 JuT Y3 F<cH
3 J98 T IgvEdt T Ul ue
ydte H% (MSP) 200 Jue Y3t
Sfecs zurfent famr T

3. 3Sa (FHE d93) M3 IIS T
et T St WE uie ydle S
(MSP) 1750 IUT Y3t Ffees J|

4. B (THE IS @ &= W Ue
ydte H% (MSP) 1750 que Y3t
Ifee® M3 T3 T T 1800 JUT
Y3t gfees T

(a) o=H 2M3 4

(b) =B 13 4

(c) dA=H 13 3

(d) dA=H 23 3

At ¥ I US T g%HISS & o
J?

(a) WHRAZT ABEBIH  (Accipiter
gentilis)

(b) WEIIBY  HISIAUTT  (Antilope
cervicapra)

(c) EBFIAPHT HIH (Dalbergia sissoo)
(d) A TEPHT FTHIUA (Eichhornia

crassipes)



13. India has given its approval to the
Raptor MoU. Which of the following
statements is/are true regarding
Raptor MoU ?

1. It falls under UN Convention of
Conservation of Migratory
Species of Wild Animals.

2. It is about conservation of birds
of prey in Africa and Eurasia.

3. Itis not legally binding.

The Raptor MoU extends its
coverage to 76 species of birds of
prey out of which many species
also occur in India.

(a) 1only

(b) 2 only

(c) 3 and4only

(d 1,2,3and4

14. Which of the following is #rue about
Indian Vulture ?

1. It is called Gyps Indicus as per
binomial nomenclature.

2. The cause of decline in the
population of Indian Vultures has
been identified as ' poisoning
caused by the veterinary drug
Diclofenac.

3. Jatayu Conservation Breeding
Centre is situated in Jharkhand.

4. Recently, Gyps Vulture
Reintroduction Programme was
launched for the conservation of
Indian Vulture by the Haryana
Government.

(a) 1 and 2 only

(b) 3 and 4 only

(¢ 1,2,3and4

(d) 1,2and4 only

SCS-1

13.

14.

(A-7)

I3 S JUueI niH B @ (Raptor MoU)
&gt fi St 31 I fefmrt 255 Sues
vﬁw@maﬁfm@mmﬁaﬁ?

1. &7 ‘UN do2sns nig Hiadedt
AT niie s WidHST ©
it »ger I

2. f&g nedlar w3 oA <
frardt Jehot & He® a9 I

(a) od<® 1
(b) oA=TH.2
(¢c) dA=H 3 N3 4
(d) ~1,2,3M3 4

393t fargs (Indian Vulture) 79 J6
fou sgst feg fagzsr Aat J7

1. fem T ‘gEeHn® sHea®Id
frrum

(Binomial Nomenclature)
ESE v (Gyps Indicus) JI

2.  3gg3t fads (Indian Vulture) <
ASHEMT wes  © JdE
STE B od (Diclofenac) &% J=
T Ffadisus T

3. W3IQ deoAIeHs wSfSar Feg
(Jatayu Conservation Breeding
Centre) S3Y3 fey J1

4., T® It feg ofowrs Aga9 &
fmuA  fa9s  (Gyps  Vulture)
JfEedsans YaoH B o137 9,
fegst € AS™® &t |

(a) o=H 1M3 2

(b) =B 3N3 4

() 1,2,3m3 4

(d) =% 1,2m3 4




15. Match the agro-climatic zone given in | 15. T®H ‘A’ © EEIRIET RICERTE EES) ?5
TBH ‘B’ © U39 5% H&G |

column ‘A’ with its area given in
column ‘B’:

‘A’ ‘B’

A. Central
Plain Zone

B. Sub-
mountain
Undulating
Zone

C. Western
Zone

D. Western
Plain Zone

I. Hoshiarpur

II. Jalandhar

III. Ferozepur

IV. Moga

A B C D
(a) I II III IAY
(b) II I IAY III
(o0 1II III I IAY
d IV I II1 IT

16. Read the following statements :

1. Baglihar Hydropower Project has
been developed on river Chenab.

2. Dulhasti Hydropower Project has
been developed on river Jhelum.

3. Salal Hydropower Project has
been developed on river Ravi.

Which of the statements given above
is/are correct ?

(a) 1only

(b) 1 and 2 only
(c) 1and 3only
(d 1,2and3

SCS-1 (A-8)

16.

A.

(a)
(b)
(c)
(d)

‘A’ ‘B’
STt HEr 939 I Ifmraug
(Central Plain
Zone)

Su-yarzt II. A®ud
nisfsgsicar u39
(Sub-mountain

Undulating Zone)

Ut a39 111, fedaus
(Western Zone)

Uit ATl 339 IV, Har
(Western Plain

Zone)

A B C D
I II ITI IAY
II I IV IT1
II ITI I IAY
v I III II

Jo &3 qgat § UIA AT ALY TE

1.

2.

3.

TSI Us-faAst yrde fosrg
aat BUT T
THIAST US-famst yrde AIoH
aat BUg T
A%S® Us-faa® yrde I<t &<

Bug I

Budaz feo faost/faasmit ASERE

At a7

(a) JA=H 1

(b) O=TH 1 M3 2
(c) =B 133
(d 1,2m3 3



17. Which of the following is not correctly
matched ?
(a) Mundra — Ultra Mega
Power Project
(b) Kandla — Tidal Project
(¢) Sethu — Hydropower
Samudram Project
(d) Kudankulam - Nuclear
Project
18. Which among the following city is
called “Zero Mile Centre” because of its
location on India’s Geographic centre ?
(a) Bhopal
(b) Jabalpur
(c) Nagpur
(d) Indore
19. What are the benefits of implementing
the “Integrated Watershed
Development Programme” ?
1. Prevention of soil runoff
2. Linking the country’s perennial
rivers with seasonal rivers
3. . Rainwater harvesting and
recharge of groundwater table
4. Regeneration of natural
vegetation
Which of the statements given above
are correct ?
(a) 1and 2 only
(b) 2, 3 and 4 only
(¢) 1,3 and4 only
(d 1,2,3and 4
SCS-1

(A -

17.

18.

19.

9)

(not correctly matched) ?

(a) HEIT — 1f®IT Har
(Mundra) Ued Yride

(b) TFH — ZTTEE® yride
(Kandla)

(c) Hg AHEIH - JEISqU=d
(Sethu e
Samudram)

(d) IBIBH — foBadng
(Kudankulam)  yriae

Jo fefimit feg faoz Afos § IS
HE1®% AEd” (Zero Mile Centre) f&ar
A J fa8fs 9 3793 ¢ Faifex AEq
feg 97

(a) IU®

(b) HIHUI

(c) . &I

(@ fedg

“Tfg3 TeIgns feaH  (Integrated

Watershed Development) Yad™H”> &I

JI6 © fagz efee I8 ?

1. ﬁﬁ?r T TIM  (soil runoff) =T
JJG™H

2. T¥F T FATgo9 &M

(perennial rivers) ?5 FAHT st
(seasonal rivers) &% H3&T

3. g ¥ ud § s w@e w3
AI®ST W3 Ud3l Jo® Ul ©
ESECECIEISERCETSY

4. JEISt FEAUSt § HI HIAIS
EGIY

Sudas feg fgoz Es AT I57
(a) A=H 1 M3 2

(b) oA=H 2,3 M3 4

(c) oO<®H 1,3m3 4

(d) 1,2 3m3 4



20. Which of the following pairs are
correct ?
1. Zawar —  Uranium
2. Khetri —  Copper
3. Balaghat — Manganese
4. Jaduguda — Zinc

21.

22.

SCS-1

Select the correct answer using the
code given below :

(a) 1and 2 only
(b) 2 and 3 only
(c) 1and4only
(d) 1 and 3 only

“Setu Bharatam” project is connected
with which of the following transport
sectors ?

(a) Road Transport

(b) Air Transport

(c) Inland Water Transport
(d) Coastal Transport

Which of the following crops are
cultivated in the equatorial regions ?

1. Rubber

2. Cocoa
3..\Tea

4.  Sugarcane

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1,2 and 3 only
(d 1,2,3and4

20. Js foftmr feg faoz dc 3 Is

21.

22.

(A-10)

(correctly matched)?

1. #'<J (Zawar) - Gﬁﬁm{
2. u3dt (Khetri) — U9

3. I®WE (Balaghat) — Hadaid
4. 73IS (Jaduguda) - fiix

ﬁ@%%a@&sﬁea?aa&nﬁ@ga
g

(a) o=®H 13 2

(b) A=H 2 M3 3

(c) O=® 134

(d) =B 173 3

“HZ FI3H” (Setu Bharatam) Yyrae
fom gz 839 &% AU J7

(a) FIF ZTAUIE (Road Transport)
(b) TET Zj’H’ﬁ‘d?I (Air Transport)

(c) f€s®s Ted gAUge  (Inland
Water Transport)

(d) 3Te=9st  TAUTe

Transport)

fegst feg' faodhit erst & o\
§HU—35’H"F (equatorial regions) feg
St AT I 7

Jg3 (Rubber)

T (Cocoa)

dJ7J (Tea)

(Coastal

1
2
3
4. J1&" (Sugarcane)

f@ f&3 T a3 <t T3 9o Adt €39
gs -

(a) JA=TH 103 2
(b) O=H 2 M3 3
(c) o=® 1,2m3 3
d 1,2,3n3 4



23. Who said, “Injustice anywhere is a

24.

25.

26.

SCS-1

threat to justice everywhere” ?
(a) Abraham Lincoln

(b) Malcolm X

(¢) Mahatma Gandhi

(d) Martin Luther King, Jr.

Who

nationalism’ ?

coined the phrase, ‘banal

(a) Brian Jenkins
(b) Michael Billig
(¢) Elie Kedourie
(d) Tom Nairn

Who
Nations’ ?

coined the mname, ‘United

(a) Franklin D. Roosevelt
(b) Winston Churchill

(¢) Trygve Lie

(d) Charles de Gaulle

Which one of the following is the latest

member (193') of the United

Nations ?

(a) Palau

(b) South Sudan
(¢) Liechtenstein

(d) Serbia

23.

24.

25.

26.

(A-11)

feg famer sgs I, “fa3 & JT T
nifentt, fonit & 79 fas uz9r 7
(Injustice anywhere is a threat to
justice everywhere)?

(a) "MIIIH fBIa (Abraham Lincoln)
(b) H®BIH MH (Malcolm X)
(¢) HISHT It (Mahatma Gandhi)

(d) HIfes BET folar F6ME (Martin
Luther King, Jr.)

¥6% JIHed=® (Banal Nationalism)

ZIH fom & &3t 39

(a) IITI6 HofaGH (Brian Jenkins)
(b) HETa® faf&ar (Michael Billig)
(¢c) M@ 3T (Elie Kedourie)

(d) 2H 335 (Tom Nairn)

goefecs aAad  (United Nations)

T fam & fazm

(a) <IAfBs ST IF<Be (Franklin D.
Roosevelt)

(b) fesrAcs CRIGIY) (Winston
Churchill)

(c) ZI=HaR Bt (Trygve Lie)
(d) TYI%H 3T 9% (Charles de Gaulle)

gorfefes dHGY (United Nations) 7

A 3 &=t muad (193 =5 T
fagsT vox 3?2

(a) UBE (Palaw)

(b) Tus HSS (South Sudan)
(c) BAGHSIS (Liechtenstein)
(d) FAIET (Serbia)



27. Which one of the following is the

incorrect match between the UN
agency and its Headquarter ?

(a) Food and -
Agricultural

Rome

Organization

(b) International — Geneva
Labour

Organization

(¢) International
New York

Monetary Fund

(d) UNESCO — Paris

28. Match the following features of the
Indian  Constitution from  their
adoptions :
Features Adoptions
Federalism I. Canada

B. Fundamental II. Former
Duties Soviet Union

C. Directive III. Ireland
Principles of
State Policy

D. Judicial IV. US
Review

Choose the correct answer :
A B C D

(a) 1 II II1 v

(b) 1 111 II v

(¢) III II v I

d 1V II II1 I

SCS-1

27. Js fou dAfser feg gwis. &FAT (UN
agency) "3 GI5t ¥ Hd wEs9 ©

28.

(A-12)

"3 JIBF J?
(a) TF WS NARIABIT — IH
N ﬂ\.

(Rome)
(Food and
Agricultural
Organization)

(b) fEcIeHe® &g T
YTIABTEHHE (Geneva)
(International
Labour
Organization)

(¢ fEcIomss vaedt - fo€ tax
3 (International (New
Monetary Fund) York)

d) TR _ Ufgm
(UNESCO) (Paris)

fergs=t AR 1 3 88°mrr et s,

al ot At ﬁrw; 9

Bt IF

A. Fusw I J&37
(Federalism) (Canada)

B. gfonet g9 II. T9HI A3
(Fundamental El?ﬂ?yﬁ';
Duties) (ii‘ormer

Soviet Union)

C. sfegafes 1. »rfEass
U:FI UBd M (Ireland)
AcS UTSHT
(Directive
Principles of State
Policy)

D. ASTHS IV. G, (US)
FAHTET (Judicial
review)

Adt €39 93

A B C D

(a) I IT II1 IV
(b) I II1 IT IV
(c) III IT IV I
d IV IT III I



29. Which two committees of the
Parliament are described as ‘twin
sister’ committees ?

(a) Public Accounts Committee and
Estimates Committee

(b) Public Accounts Committee and
Committee on Public
Undertakings

(¢) Law Committee and Committee
of Delegated Legislation

(d) Committee on Privileges and
Committee on Petitions

30. The Rohingya crisis has been making
news lately. Consider the following
statements about the Rohingyas :

1. They are an ethnic group largely
comprising Muslims who
predominantly live in western
Myanmar province of Rakhine.

2. All the Rohingyas are full citizens
of Myanmar.

3. According to UN, the Rohingya
crisis is majorly a result of ethnic
cleansing being done by the
Myanmar State.

Which of the above statements are

correct ?

(a) 1 and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) 1,2and3
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30.

(A-13)

41__|3’1_]*‘ |.|. %Ei.a
fagr Ater I?
(a) UglB WAQTH FHST 3

WHSTHSH IHet (Public Accounts

Committee
Committee)

(b) UHBI nALT IHST N3 IRt
s UIfBa wisdefdd  (Public

(Twin Sisters) IHIT

and Estimates

Accounts Committee and
Committee on Public
Undertakings)

(c) &M NI M3 THIT e
IWiarfes %f‘?m%% (Law
Committee and Committee of
Delegated Legislation)

(d) T s UIRIBHT M3 ST
WS UtHeT
Privileges
Petitions)

(Committee on
and Committee on

Ifdfamr Aae g A9 et ygar <9

fagr I1 IfSfamr ot g9 Is &8 sEs

g

1. feo y» gu ffe 97 fosst
HAGHGT & 99y J #7 UsHT
fimiyg © e () <9
IfIT TS|

2. A9 Ifdfamr fimityg <
SAfIT IS |

3. G, T wigAg Iffamr Axe
fHofHg 2% i3t a7 9dt &A%
JHT = 3T T

Budas feg' fxaz faws (statement)

AT I57

(a) oA=H 1 M3 2

(b) o=H 2 M3 3

(c) =B 1733

d 1,273 3

YJo




31.

32.

33.
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Which of the following amendment/s in
the Indian Constitution was/were
equated with ‘Mini Constitution’ ?

(a) 24 and 25" Amendments
(b) 4274 Amendment
(c) 44 Amendment
(d) 73" and 74" Amendments

Which of the following is incorrect
with regard to the Schedules listed in
the Constitution of India ?

(a) There are total twelve Schedules.

(b) Schedules XI and XII were
incorporated  respectively by
73td  and 74t Constitutional
Amendments.

(¢) The Ninth Schedule was added to
the Constitution by the First
Amendment.

(d) Anti-defection law is in the
10th Schedule of the Constitution
and it  was added by
421d Constitutional Amendment.

Which of the following is not the
essential condition for a political party
to be recognized as a national party ?

(a) If a party gets six percent of the
total valid votes polled in the
election for Lok Sabha in four or
more States.

(b) If a party sends four elected
members to the Lok Sabha.

(c) If a party gets two percent of the
total number of seats in Lok
Sabha from not less than three
States.

(d) If a party is recognized as a State
Party in at least two States.

31.

32.

33.

(A-14)

‘@cT  Hfeus® (Mini Constitution)
Hfen qer 3 2

(a) 243t n3 2551 AU

(b) 423 RO

(¢) 443t AT

(d) 7303 743 AU

Js fsfunt feg' 93t Afeus <t

W@?ﬁ (Schedules of Constitution) g9

faast 9w a@z T ?

(a) Afeus feo a® 12
YH?_?EIW (Schedules) I& |

(b) nEHS! (Schedule) XI W3 XII
Afeos feg 7338 »3 743t Ay
It UTE T A |

() &t nisEST (Ninth Schedule) &
Hfeurs & ufodt Au It Afeus
feg Afenm famrm I |

(d) nret fs‘é’aﬂﬁ (Anti-defection)
M TAST M&HST (10th Schedule)
feg I w3 feo 42t Ay gt
Afeus feg Afsnm famr A

(g

%W&%%ﬁé@ﬁ%&tﬁéf
> JTHSIT Ul @F He3T &= ®BET
st HI3 A<t 3dF° J ?

(a) T UIST BA-AIT UTHHE T
feg 99 # =g Ia &9 I&
Ut fes et = 6% & el
JI

(b) A UGS I9 gE I SHfER
BI-AZT f&g IAet J|

(¢) o UIS BI-AST @it & Hier
T T ysStHs fIrr ue ue f35
g feg & AT J|

(d) # uadt & ¥3dt Ut @d we
We € g f&g Ha3T fHet Jet
T

b,

«




34. The

Panchayati  elections  are
scheduled in the month of September
2018 in Punjab. Consider the following
statements about the Panchayati Raj
Institutions. Which of them is
incorrect ?

(a) The term of the office to the
Panchayat at every level is
5 years.

(b) The direction and control of
preparation of electoral roles and
conduct of all elections to
Panchayats shall be vested in the
Election Commission of India.

(¢) The State legislature may make
provisions with respect to all
matters relating to elections to

the Panchayats.

(d) The 739 Amendment Act
provides for the reservation of not
less than one-third of total
number of seats for women
(including number of seats
reserved for women belonging to
SC/ST).

35. Who 1is the Chairman of the

Inter-State Council ?

(a) The President of India

(b) The Union Cabinet

(¢) The Prime Minister

(d) The Union Home Minister

36. The word ‘Bureaucracy’ was first
coined by

(a) Max Weber

(b) Alexander Pope

(¢) M. Crozier

(d) Vincent de Gournay
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35.

36.

(A-15)

e et Ts1 UITEst 9=

ArEet g9 J6 TSttt feg” fags sus

Adt T T ?

(a) I9 Yug Bug vufes &t fimre
(term of the office) UA A J<t
T

(b) Fe9 FEMT BT Audh AU »i3
JeI® M3 HIMT Uorfest gt
IS8T T AW 93T 9T SfHAS
o Jer J|

() Iu feus AzT Uofest I ©
&% Heus for < HA®% Bug =t
3t Uferds g A<t J1

(@) 73'4 HO wige T MEAT widst <
BET JuTads % Hiet © f&x
(A3 B0 Atet &t fo=st 7 fa
WHALMAZ. wiest @ ®Er
I T®) |

M3I-IHt IAS (Inter-State Council)
T INTIHG AT JeT J ?

(a) I3 T THSIUIT
(b) TeMs Jafse

(c) Yyus H3T

(d) oedt gfa H3d

‘fa@%a%ﬁr’ (Bureaucracy) HI< fam &
[EEUN

(a) HoA 99 (Max Weber)

(b) MIIHSI YU (Alexander Pope)
(¢) WM. FIAMI (M. Crozier)

(d) fesRe St 9IS  (Vincent de
Gournay)



37. Which of the following resulted from
Bretton Woods Conference ?

(a) United Nations

(b) League of Nations

(c) Institutions meant for checking
nuclear proliferation

(d) World Bank and IMF

38. Which one of the following is not a
sufficient ground for convening a joint
sitting of both the Houses of
Parliament ?

(a) Rejection of a bill by one House of
the Parliament when the other
House has passed it.

(b) Both  Houses have finally
disagreed as to the amendments
to be made in a Bill.

(c) More than six months have
elapsed from the date of the
reception of the Bill by the other
House without the Bill being
passed by it.

(d) President has refused to give his
assent to the Bill.

39. Celebrating its 50 years, Booker Prize
declared its “Best of Man Booker
Prize” on 70 of July 2018. Which book
won this prize ?

(a) The English Patient

(b) The God of Small Things

(c) Home Fire

(d) Anna Karenina
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39.

(A-16)

Jo fefimit feg fxoz™ g9cs <39
I5eIH (Bretton Woods Conference) ©
&3 @7 gfenm 2

(a) U&EICS dHGH

(b) FBlar »e SHEH

(c) TERSHBHaT )
foSasnma uddifesns

(d) TIBS FI WS nELHIE.
(IMF)

S

EE'TEJBﬁKFwWwQ foras

IS gA=ST

(a) Plo(deB(Hea%&é‘TfélEWFra‘d
fe37 I vz od & JT I3 3T I

(b) €5 AEs’ & fan &t fams feg
WATIHST g7 %Et J |

(¢) faA & Aes o® fos Bz 3
INE & HJTS & AT i3 7 3
T S 9% uH & JF |

(d) THIUST & % UH 96 I
WRfIHS J=7|

nm@50wy%aaﬁ@wgaa
UIET & 7 g%TEr 2018 § “EAC »e
¥o J39 ude’ wwfent I 6
fammr 3 2

(a) = fEafen uie

(b) T IS ME ANS fEIw

(c) JH Tfeg

(d) Wit Tgater



40. Which of the following statements

is/are not correct ?

1. As per the provisions of the
Constitution, the Council of
Ministers is both collectively and

individually responsible to the
Lok Sabha.

2. A censure motion must state the
reason for its adoption.

3. A no-confidence motion must set
out the grounds on which it is

based.

4. If a no-confidence motion is
passed by the Lok Sabha, the
Council of Ministers is bound to
resign.

Select the correct answer using the
code given below :

(a) 1,2and 4 only
(b) 2 only
(c) 3only
(d) 2,3 and4 only

41. In the first financial year of GST
regime in the country concluded
recently, list the following states in the
descending order of Per Capita
Revenue starting with highest to the
lowest :

(a) Haryana, Maharashtra,
Karnataka, Punjab

(b) Maharashtra, Haryana,
Karnataka, Punjab

(c) Maharashtra, Haryana,
Punjab, Karnataka

(d) Haryana, Punjab,
Maharashtra, Karnataka

SCS-1

40. J5 Tt feg' o3 =gs ATt &9

41.

(A-17)

Js ?
T A3 (Council of Ministers) ATS
39 3 oz &7 39 3 Ba-A97 3
A<TgeT J|

2. HEMT (censure) HAG BTl TIE
TAT 799t deT J|

3. ¥ SJAdt H3T (No-Confidence
Motion) fam »ug 3 ufenm a7

fggr I Effmr 7er 73t I
4., Hd9 ¥ gIHIT H3T

(No-Confidence Motion) ®& HIT
feg ur g AT T 37, Hsdrt T
HHJ (Council of Ministers) '§
RIS T BT J|
Jot f&3 a1 o3 o 93 9o Adt €39
gc .

(a) o=R® 1,2M3 4
(b) o=H 2
(¢c) o< 3
(d) o=S 2,3Mm3 4

AA.S. &g 9T T gmie ufges &3t
g o Rg & wzw Ifenm T Is
fe3 g7t § wee gy &9 Bost T ug
Sfuer %é]‘%@ (Per Capita Revenue) ©
niEHS fed (A 303 HY 9 I AT
3 ue )

(a) TfeME, HITHST, SIS,
Uy

(b) HIGHSIT, JfInfEr, JI&EH,
Uy

(¢) HITHeI, Jfanrsr, Ay,
IISTAT

(d) dTfgwrsr, dag, HITHST,



42. The government has powers under the | 42.
Essential Commodities Act, 1955
(EC Act) to declare a commodity as an
essential commodity to ensure its
availability to people at fair price. The
commodities covered under the Act
include :

1. Paper

2. Hank yarn made wholly from
cotton

3. Fertilizers

4. Petroleum and petroleum
products

5. Cotton and jute seeds

Select the correct answer using the

code given below :

(a) 1, 2and 3 only

(b) 1,3 and 4 only

(¢) 3,4 and5 only

d 1,2,3,4and5

43.

43. With reference to “Stand-up India
Scheme”, which of the  following
statements is/are correct ?

1. Its  purpose is to promote
entrepreneurship among SC/ST
and women entrepreneurs.

2. It provides for refinance through
RBIL.

Select the correct answer using the

code given below :

(a) 1lonly

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

SCS-1 (A-18)

991 A3V Wide, 1955 (Essential
Commodities Act, 1955) ¥ WUS
A9 d% fan & T3 &
MEHEE T niftag I

Jo fofantt feg faasnit easY, T9dl

%’ﬂ?g?l"r (Essential Commodi’gies) lﬂ'FH?

IS ?

1. ddid (Paper)

2. Jd w95 (Hank yarn) Ud' dCH
3 gfenr Ifenr i

3. ye (Fertilizers)

4. 3B M3 3B © B3U™ (Petroleum
and petroleum products)

5. dc5 M3 dc =F (Cotton and
jute seeds) )

Jot fo3 i o3 & T93° J9o Adt €39

g% -

(a)

(b)

qeB 1,2m3 3

JqeH 1,303 4

(¢c) dA=H 3,4m3 5

d) 1,2,3,4mM3 5

“Ae3-niu f€3 (Stand-up India)
AH” 979 J6 fsftmrt feg fagsT sus
Adt T ?

1. feger €85 WAHALMAS. »3

(entrepreneurship) ?5 e oI

JI
2. feg Wz & (Refinance) YU

393t fggde 9 (RBD) It

HIET Fg= 8T J|
ﬁ?ﬁ%a@&sﬁﬁ?aﬂaﬂﬁ%
ge .
(a)
(b)
(c)
(d)

q=% 1

A= 2

T2 1 03 2

1 3 2 feo It & &t



44, Which of the following statements

is/are correct regarding Economic and
Statistical Organization of Punjab
(ESO)?

1. It provides advisory services to
the State  Government on
economic matters to form policies.

2. It acts as a nodal agency for
MPLAD schemes and helps
district planning committees.

Select the correct answer using the
code given below :

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

45. The International Movement “Me Too”,
started against sexual harassment,
that was popularized by Alyssa Milano
in 2017 was originally started around
2006 by
(a) Uma Thurman
(b) Tarana Burke
(c) Ashley Judd
(d) Angelina Jolie

46. Deficit financing means that the
government borrows money from the
(a) Revenue Department
(b) World Bank
(¢c) RBI
(d) None of the above
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45.

46.

(A-19)

(Economic and Statisticail
Organization) g9 J& f&tmt :
faas 85 ATt I8 ?

1. f&g IH FAIX9 § wIEx
HAf®T Bug ufsAr g8 g9
AT feet T

2. feg MPLAD FaIHT ®Tt &3
THAT T 4 FIEt I w3 faw
USFSIT THST T Hee 9t J |

-

9T -
(a) o= 1
(b) O=H 2
(c) ©<T 173 2

d) 132 feg agt <t &dt

ni3g9HSST Bfag “Ht 27 (Me Too
Movement) 7 f& G ARE € fuse B
Jet 3 TofeAr fH®®  (Alyssa
Milano) & 2017 <9 HHJY SIS, HS
U <9 2006 T a9tE fqH <8 HY A1t
et A

(a) ©HT BIH® (Uma Thurman)

(b) <J7&T 93 (Tarana Burke)

(c) "HS T3 (Ashley Judd)

(d) MASET 7% (Angelina Jolie)

3fefAe T=tafiar (Deficit financing)
feg FIag fom a®% UAT Gurg &<t 72

(b) =TIBT T/feH< TN
(c) fomge ¥a nie fEfenr (RBI)

@ Budaz feg gt & &dt




47. Which of the following statements are
true about Agni-5 Missile that was
successfully test fired from Wheeler
Island on June 3, 2018 ?

1. It is nuclear capable
intercontinental ballistic missile
(ICBM).

2. It features ring laser gyro based
inertial navigation system
(RINS).

3. It does not have micro navigation
system (MINS).

Select the correct answer using the

code given below :

(a) 1,2and3

(b) 1 and 3 only

(c) 2 and 3only

(d) 1and 2 only

48. Who recommends the Minimum
Support Price (MSP) and Issue Price ?
(a)  Ministry of Agriculture
(b) Planning Commission
(c) Commission for Agricultural

Costs and Prices

(d) NABARD
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(A-20)

Agni-5 fHTE® fAH T AE®3T YI<
cAC B TY T T6 3, 2018 § I3
famr, g9 I fefimit feg" fao3 B
HIP T57

1. feg yHe mHdEr Juz T
fEeddiciones gfeafed fHafes
(ICBM) J1

2. fem firfes feg fSar &a9 arfed
IR feadfgnis a<dHe fHACH
(Ring Laser Gyro Based Inaertial
Navigation System, RINS) J |

3. feA d® ‘HElad 3<tdrAs A
(MINS) &dt T |

Jo' fI3 a2 o5 o =93 J9o At €39
ge .

(@ 1,273 3

(b) o=H 1M3 3

(c) O=<H2m3 3

(d) oTH 13 2

ue ue AHIEs HE (MSP) »i3 fem
UJTEH  (Issue Price) @ fom <&

fAerfar =t AT T 2

(a) ¥IFST HIT®  (Ministry of
Agriculture)

(b) TS SHAS (Planning
Commission)

(c) 3T A3 mM3 AHIT BET
ITHAS (Commission for

Agricultural Costs and Prices)

(d) &&@d8 (NABARD)



49. India has been re-elected to the UN
Economic and Social Council
(ECOSOC) recently.

Consider the following statements in

this regard :

1. India will hold a 5-year term
beginning from January 1, 2018.

2. A country requires one-third of
the total votes to become a
member of ECOSOC.

Which of the statements given above

is/are correct ?

(a) 1only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

50. With reference to ‘Bharat 22’, which of
the following statements is/are
correct ?

1. It is the Exchange Traded Fund
(ETF).

2. It is an unmarketable security.

3. This aimed at helping speed up
the government’s disinvestment
programme.

Select the correct answer using the

code given below :

(a) 1only

(b) 1 and 3 only

(c) 2 and 3 only

(d 1,2and3

SCS-1
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(A-21)

WIfEd M3 AT A% (ECOSOC)

feg Tarar gfenr famr I

for AU Jo €3 qga’ & gy &9

1. #&edr 1, 2018 3 AY JIA FI3
ot Ua A% & fimre 324t |

2. fam & ©7 g ECOSOC ¥ HEd
g56 e % < = fex f3gret
grdteT I

Bugas feg faost/faasnt mecH<e
AT 872

(a) A=B 1

(b) =TS 2

(¢ 1m3 2%
(d) 1n3 2 feg agt &t &dt

‘F195 22 ° (Bharat 22) 99 J& fowfun

feg” fgg3 a8s At T8 2

1. feg fex niomeA <Ifs3 <3
(Exchange Traded Fund, ETF)

T
2. fem 3§ 9T, ydtes niyr J|

(Unmarketable security)

3. fem &® wAJa9 T fefeem
(Disinvestment) I;FEI'IG"')-{ EG
RECI

Jot fd3 I1F a3 & <93 9o AT €39

g% :

(a) o= 1

(b) OA=TH1 M3 3
(c) o=® 23 3
d 1,233



51. Which of the following is related to the
recently launched ‘Innovate in India

(i3) programme ?

(a) National Mission for Sustainable
Agriculture

(b) National Food Security Mission

(¢) National Biopharma Mission

(d) Atal Innovation Mission

52. Consider the following statements
regarding Prime Minister’s Economic

Advisory Council (PMEAC) :

1. It is a statutory and permanent
body.

2. It analyzes any economic issue
referred to it by the Prime
Minister and advises = him
thereon.

3. It submits periodic reports to the
Prime  Minister,  related to
macroeconomic developments and
issues.

Which of the statements given above

is/are correct ?

(a) 1and 2 only

(b) 2 and 3 only

(c) 3only

(d 1,2and3
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51.
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(A-22)

‘fease fés féshr (3) YamH #
AIad & Uz fag g&fenr I, &% Js
foftmit feg fam =" AET T ¢

(a) JIHSIT AACHEE® u3tgast fHas

(National Mission for Sustainable
Agriculture)

(b) THSIT 3IAs AT HA®S
(National Food Security Mission)

(c) THIT FfegaTIHT s

(National Biopharma Mission)

d) nicw feoAs  furs

Innovation Mission)

(Atal

yUTs {39t niafax ABIAd o A

(PMEAC) 979 J5 f5Y J8T § @9

1. feo f&x 6('6:3 (Statutory) i3
UaT (Permanent) FAET J |

2. feg yus ¥t & IA T9
»afes HA® Bud di9 I99 A®T
feet J1

3. feg yus H3dt § AN AN Gug
EE S nrafex HAf®NT
(Macroeconomic) &% HIMUI
feam g9 fouge feet T

Sudaz feo faost/faasint meene

AIT I5°?

(a) o<H 1 W3 2

(b) OB 2 W3 3
(c) o<H 3

d 1,273 3



53. Which of the following is incorrect
about the RBI Governor ?

(a) He is part of the search cum
selection committee for members
of Monetary Policy Committee
(MPC).

(b) He heads the MPC.

(¢c) He represents India in WTO
conference.

(d) He has the casting vote in MPC.

54. In the context of ‘Solar Briefcase’,
consider the following statements :

1. It was launched by the
Uttarakhand Government and a
charitable funding agency, Swan
Cultural Center and Foundation.

2. The aim of this initiative is to
provide vehicle facilities to far
flung areas.

Which of the statements given above

is/are correct ?

(a) 1only

(b) 2only

(c) Both 1 and 2

(d) Neither 1 nor 2

55. Stagflation is a situation of

(a) High inflation combined with
high unemployment

(b) High unemployment in
agriculture

(¢) Unemployment adjusted for
seasonal fluctuations

(d) High inflation which is structural
in nature
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(A-23)

393t fogae ¥ (RBI) © d<dad 99

Jo f&fimit st feg faoz ATt &9

J9

(a) €9 Hfeedt ufsHt sHS (MPC)
T N9 B T andt = fJAr

Jer J|
(b) 8T MPC = Hut Jer J|
(0 B8g 393 & ystfsuzr WTO

SBedH feg ager J|
(d €r I MPC f&g ‘AT =<
Jet JI

A% gdledr g9 dJo fodnt

FASCHZH &9 :

1. feg G393 AIag w3 fox
AHHAST AAET  ‘ARS  JI%dId®

Acd W3 T83A5 % HI 3T
fopor #H1 i

2. fe@ = HaFT TI-TIS © U3T
feg wemst T AUs HIShT
I8 J|

Budazs feo fxost/faadnt Aeehe

FJT I8 2

(a) =B 1

(b) IATH 2

() 1m3 2%

(d) 13 2 feg Jgt & &dt

‘AICHHAG (Stagflation) fam T&3 3§
Ffde T&°?

(a) <UT gt HiJarst =9 w3 <at Jot

b)) TSI Uz f&g =gt gTt
F9dardt Jet I

(¢) FJgardt 7 Fmft G3Imr-sgmr
(seasonal fluctuations) &% THat

d
(d) <Ot Jgt HfJarst & FAgGS
(structural) farH €t J<t J



56. With reference to the Zero Hunger
Programme, consider the following
statements :

1. India’s ambitious Zero Hunger
Programme through
interventions in farm sector was
launched with a focus on
agriculture, nutrition and health.

2. This is a dedicated farm-based
programme in synchronization
with Sustainable Development
Goals (SDGs) to end hunger by
2030.

3. This programme is an initiative
of the Indian Council of
Agricultural Research.

Which of the above statements is/are

correct ?

(a) 1only

(b) 2 and 3 only

(¢) 1and2only

(d 1,2and3

57. The seasonally adjusted Nikkei India
Services Business Activity Index has
shown robust growth in service sector
in India. The index in May 2018 has
risen to 52.6 registering the fastest
growth since
(a) dJune, 2017
(b) June, 2015
(¢) dJune, 2016
(d) June, 2014
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‘M9 Jag Y9I  (Zero Hunger

Programme) 99 J& &3 sEst & ugy

9

1. &R Y™™ = HaAT u3t Aded
(Farm sector) 3% I&d U=,
ﬂ'H'E w3 fAI3  (agriculture,
nutrition and health) Su3 s
xefaz JIaT J|

2. feo &5 a3t-nma3 Yaew I A
AAC ST STHUNT J%H

(Sustainable Development Goals,
SDG) =1 2030 3 FuHIT &
H3IH 96 BT AHIUS J|

3. feg a3t uStgst fopgw A%

(Indian Council of Agricultural
Research) € Ufg® T

Budaz fed faost/faasdnt AceheH
HIT I6 7

(a)
(b)
(c) O=H1 M3 2
(d)

(X

A% 1

A% 2 M3 3

1,2 M3 3

foost 393 AT U9 THfc<ler
E3aH (Nikkei India Services
Business Activity Index) & 393 <
A<T U3J (service sector) ff9 gJd3 <uar
fegfenr J1 HET 2018 feg fE3aH
52.6 3 <U famr 7 Is oy Ae fog
I I ¥ A IT 3K T AF I 39 0T
J?
(a)
(b)
(c)

(d)

, 2017
2015
, 2016
, 2014

<
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Which of the following is not a
Maha-Ratna industry ?

(a) GAIL

(b) Coal India Limited

(¢) SAIL

(d) Airports Authority of India

Which insecticide is banned by the
Punjab government for wuse in
agriculture ?

(a) Tremadaside
(b) Endosulfan
(¢) Uriprox

(d) Becaldehyde

Punjab government has brought in a
new tax for income tax payees engaged
in professions, trades, callings and
employments in the current year
budget (2018 — 19). This tax is

(a) Education Tax
(b) Entertainment Tax

(c) Development Tax
(d) None of the above

When a ball drops on the floor it
bounces. This is according to

(a) Newton’s first law of motion
(b) Newton’s second law of motion
(c) Newton’s third law of motion
(d).  The ball is elastic

The hydraulic brake wused in
automobiles is a direct application of

(a) Archimedes’ Principle
(b) Torricelli’s Law

(c) Bernoulli’s Theorem
(d) Pascal’s Law

58.

59.

60.
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J& ettt feg faoz Hat-I3a Bewdr
(Maha-Ratna Industry) &7 J7

(a) GAIL

(b) % TS feHfes (Coal India

Limited)

(c) SAIL

(d) ISt EnfdUde METIST (Airports
Authority of India)

JAg AT I8 A0z dieaHs

g3tast feg urdetmer 99

(a) ZIHSHES (Tremadaside)

(b) M3A®ES (Endosulfan)

(c) El?ﬂllﬁaﬂ (Uriprox)

(d) HSBSTTES (Becaldehyde)

UATg AIAd <& f8adH CIH 396 T
I H UJeHS, I3, Jed w3
A& (2018 - 19) 39 faasT a<t 2aH
Barfent famr 37 feg 2/ T

(a). WHAHS <IH

(b) MTICBEHC A

(c) Tse®munz 2=

(d) Gudasz feo =t & &t

7 de <97 Sug 8ot I 3t €9
g3t J | fem QU9 fs@es = fagsr
ﬁquTgwaTaETU‘?

(a) ﬁ@?ﬁ?uﬁwm

(b) fs8zs = gar fHUS

(c) fo€es wr tar fHU's

(@ dJre fewAfes I I

TESIS 9% (Hydraulic brake) =
neHafesd feg I93 A9 Is, AfER
T for AU nigAg a1 Ja9e I6 ?

(a) 1IN fYAUS (Archimedes’
Principle)

(b) ZEITASH ™ (Torricelli’s Law)

(¢ =IodT faGan

Theorem)
(d) UHSIHT B (Pascal’s Law)

(Bernoulli’s
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Velocity of sound in air does not
depend on

(a) Density of air

(b) Temperature of air
(¢) Pressure of air

(d) Humidity of air

What happens when light travels from

air to glass ?

(a) It bends towards the normal line

(b) It bends away from the normal
line

(¢) There is no change

(d) It becomes parallel to the normal
line

Which of the following medical
procedure uses the principle of total
internal reflection ?

(a) X-ray

(b) C.T. Scan

(c) Endoscopy

(d) None of the above

The half-life period of a radioactive
substance is 70 days. One gram of the

same substance will become 0-25 gm
after

(a) 140 days
(b) 70 days

(c) 210 days
(d) 280 days

Todised salt is a

(a) Mixture of potassium iodide and
common salt

(b) Mixture of molecular iodine and
common salt

(c) Compound formed by
combination of molecular iodine
and common salt

(d) Only potassium iodide

63.

64.

65.

66.
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e & a3 (velocity of sound) foH

8ug fsgsg adf J<t ¢

(a) J<T & W3 (Density of air)

(b) TI<T € IUHS (Temperature of
air)

(¢) J<T & €™ (Pressure of air)

(d) =T & sH (Humidity of air)

A< JAGT I=T 3 HIF (air to glass) <9

At I 3T o ger I?

(a) &7 o9H® Tete © 2% H3et J

(b) f&T 5IHS FEts 3 TI HIeT

(¢) Tt eI &l UeT

(@) &g o9H® TEE @ ANGSI d
A I

Jo it feg® faast Hstas feut s

UJs nidol fIe®aHE (total internal

reflection) €7 fAUTS Harer T 2

(a) MR I (X-Ray)

(b)  HI.Zt. A& (C.T. Scan)

ORRZELCUI (Endoscopy)

(d) Sudasz feg =t <t &t

fea IStEIAfes (radioactive) Ue9g

T nigu-dies fHe (half-life period)

70 fes J1 fem ue9E € 1 gm fd3

fes ImE 0-25 gm Ifg A<ar?

(a) 140 fex

) 170 fes
(c) 210 fes
(d) 280 fes

%WE"]‘@BTE"]T:!B’ (Iodised) &HE off JeT

0

(a) USTHMIH WEIG3™EE w3 JTHG
SH T fHAIE

(b) HHEBI MERETE w3 IHs
SHS T fHAgE

(¢) HHAGHI WEBSs M3 THS
SHE BT U

(d) =B USTHMIH nEtEsTEs
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69.
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71.

72.

73.

SCS-1

Vinegar is a solution of

(a) 5—20% acetic acid in water
(b) 25— 30% acetic acid in water
(c) 50% acetic acid in water

(d) 40 —45% acetic acid in water

Litmus is obtained from
(a) A bacterium

(b) A fungus

(c) Alga

(d) Lichen

In an undamaged blood vessel,
conversion of  Prothrombin to
Thrombin is prevented by

(a) Fibrinogen

(b) Calcium (Ca)

(¢) Factor VI

(d) Heparin

“The Virgin of the Rocks” is the
masterpiece of which painter ?

(a) Michelangelo

(b) Raphael

(c) Leonardo da Vinci

(d) Titian

Who gave the idea of the “Penny Post”
— fast and cheap communication ?

(a) Rowland Hill

(b) McAdam

(c) George Stephenson
(d) Samuel Morse

In 1775, where was the first battle of
the American Revolution fought, when
a thousand British soldiers met the
Colonial Militia ?

(a) Boston

(b) Lexington

(c) Jamestown

(d) Trenton

68.

69.

70.

71.

72.
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fAIa™ (Vinegar) ot I ?

(a) usr &9 5 - 20% mAfex vifAs
(b) uEr 39 25 — 30% niAtfex »ifAs
(c) uEr 9 50% niAtfex wifAs

(@) uEr 9 40 — 45% nirAtfex wifAs

fBeHA (Litmus) faA 3 fHeer T 2

(a) TxHIMH (Bacterium)

(b) @JH (Fungus)

(c) WS (Alga)

(d) ®EES (Lichen)

fea faar-aaAar I ya o &3t feg
UJEIHTES (Prothromk;in) 5 gIHfES
(Thrombin) 39 ge&s 3 &t JaET I ?
(a) fegdl&d® (Fibrinogen)

(b) IABHMMH (Calcium)

(¢) <aecd VI (Factor VI)

(d) JHUfes (Heparin)

“gIfME e @ JaA” far deg =

Agag J7

(a) HEIEINHS (Michelangelo)

(b) IS (Raphael)

(c) foBag3 37 f&Tt (Leonardo da
Vinei)

(d) fefer™ (Titian)

“Ust UAS” - 37 M3 AAZT HiunmH

fom T vt A

(a) TE3F fJ& (Rowland Hill)

(b) HMBH (McAdam)

(¢) oA ACIEaH® (George
§tephenson)
(d) HHM® HIA (Samuel Morse)

It it & ufgdt ®3Er 1775
feg, ggsemr @ gagr Afedr w3
IBaS THETHMT fegs fog 3t aret
Y

(a) TACS (Boston)

(b) dTfHdies (Lexington)

(¢) #HT Z'@E (Jamestown)

(d) <ZJ6¢a (Trenton)



74. Who wrote the “Discourse on the | 74.
Origin of Inequality” ?
(a) Voltaire
(b) Jean-Jacques Rousseau
(c) Montesquieu
(d) Locke
75. Pakistan Tehreek-e-Insaf is one of the | 75.
prominent  political  parties in
Pakistan. Which of the following
belongs to the above political party ?
(a) Imran Khan
(b) Nawaz Sharif
(¢) Asif Ali Zardari
(d) Bilawal Bhutto
76.
76. Vladimir Ilyich Ulyanov was popularly
known as
(a) Stalin
(b) Lenin
(¢) Kerensky
(d) Leon Trotsky 7.
77. The Treaty of Brest-Litovsk was a
peace treaty signed between which
counties ?
(a) Russia and the Central Powers
(b) Germany and the Allied Powers
(¢) Turkey and the Allied Powers
(d) Bulgaria and the Allied Powers
SCS-1 (A-28)

~

“MAHS3T © HB  Bud ITHE”
(Discourse on the Origin of Inequality)
far & f&far 9

(a) THBMT (Voltaire)

(b) Fﬂﬁ—ﬁ@”ﬂ? Qﬁ (Jean-Jacques
Rousseau)

H&SHS (Montesquieu)

B (Locke)

(c)
(d)

UfIAS™® 3Jdtd-2-fearae UfdAsS
ot g I et @88 I Js
J 9
(a)
(b)
(c)
(d)

feHas s
&< HYlE
YTHE W& I
fawe® g2

e Si@e Gfenmee  (Vladimir
Ilyich Ulyanov) faA &™H &% HAJI J?
(a) HSS (Stalin)

(b) 6 (Lenin)

(c) dAJBHST (Kerensky)

(@) f%6a zdcAdt (Leon Trotsky)

oJtet g JIAc-fHeerAx
(Brest-Litovsk) »urt 73t st faos
< oF feg® Jet AT?

(a) IA W3 Jed IH3T (Central

Powers)

(b) AIHI W3 FETH IF3T (Allied
Powers)

(¢c) 3T W3 FEH IF3T (Allied
Powers)

(d) F&HIFIAT w3 FERH  IHI
(Allied Powers)
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79.

80.

81.

82.
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Name the two German representatives
who were forced to append their
signatures on the Treaty of Versailles
in 1919 ?

(a) Miller and Bell
(b) Ludwig and Max
(¢) Fritz and Felix Graf

(d) Gunther and Hermann

Operation Barbarossa was the code
name for the invasion on which
country ?

(a) Germany
(b) Japan

(c) France
(d) USSR

Harappan seals were made mostly of
(a) Steatite

(b) Red sandstone

(c) Terracotta

(d) Ivory

The leader of a Jain gana was known
as

(a) Ganapati
(b) Ganadhar
(¢) Ganaraj
(d) Ganak

Ibn Battuta, the famous Muslim
explorer who came to India during the
times of Muhammad bin Tughlaq,
belonged to which country ?

(a) Egypt

(b) Greece

(¢) Iran

(d) Morocco

78.

79.

80.

81.

82.

(A-29)

oz € AoHs aHfefent § 1919 &9
J= TH ‘I niie IIABT (Treaty
of Versailles) U3 IA3™HT &35 et
HAgT 3T famr Ht?

(a) H®BI M3 ¥% (Miiller and Bell)

(b) BIfear M3 HIH (Ludwig and

Max)

(¢) efdeqd mi3 2for I9e (Fritz and
Felix Graf)

(d) o8I M3 IIHE (Gunther and
Hermann)

VUIHG TIIIAT (Operation

Barbarossa) oA @0 Gud IH® ST
U3 &H HI?

(a) HIHA
(b) HUS
(¢) EJIH

(d)  FMANMANT. (USSR)

H&?
(a) HAIMTETEIC (Steatite)
(b) &% HSACS (Red sandstone)

(¢c) I (Terracotta)

(d) et (Ivory)

‘WS 6 © oot § o faar Afer A ¢
(a) JHUST

(b) d&ETI

(¢) dJEIH
(d) dJH

feus ¥33" (Ibn Battuta) &™H €7 yfHg
HAGHS 8dl 7 HdHe fis 3@ <
AN 3793 niffen AT, for @7 3 A 2
(a) fHAT (Egypt)

(b) JIAH (Greece)

(¢) E9® (Iran)

(d) HI (Moroceo)



83. Who was the Persian appointed by
Ashoka to administer the Western
province ?

(a) Tusapa
(b) Justine

(c) Plutarch
(d) Sunasepah

84. Kunwar Singh was a leader of the
Revolt of 1857 in which of the
following States ?

(a) Uttar Pradesh
(b) Bihar

(c) Madhya Pradesh
(d) Bengal

85. The Dastak system which was adopted
by the British in the initial stages of
their expansion was related to the
(a) Military power
(b) Judicial administration
(c) Appointment of agents
(d) Trade privileges and concessions

86. Who among the following was the
reformer and philosopher  from
Ramanandi Sampradaya in the lineage
of Jagadguru Ramanandacharya ?

(a) - Ramananda
(b) Valmiki

(c) Tukaram
(d)  Tulsidas

87. The story of Videh Madhav is narrated
in
(a) Atharvaveda
(b) Yajurveda
(c) Chandogya Upanishad
(d) Samveda

SCS-1
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(A-30)

~

Y)ﬂ?!_q’ 3 mMus Uzt )j@f (Western
Province) ¥ YU fam ugHmis ES
e w7

(a) CHAUT (Tusapa)

(b) #HAfEE (Justine)

(c) UBIIS (Plutarch)

(d) H&THUT (Sunasepah)

s=d fiw 1857 © feedg AN faoz 99
&g fegdg T &3 AT ¢

(a) €397 yen
(b) foog

(c) MU y<H
(d) Hdar®

A3 fAAeH A wiogat 3 nud
Aot €9 €9 fergs AR nuafenr
far & Aafus A?

(a) €A 33

(b). TETHMS YAHs

(c) Tt < fogast

(d) =ug feg g2f »i3 ferr niftarg

Jo Tttt fog© fxo3 U9 3
(Ramanandi Sampradaya) © Haredrid
IHSTITIIAT (Jagadguru
Ramanandacharya) © 27 fe9° A& ?

o

(a) THBE

(b) THHIT
(¢) JAIIH
(d) 3IBHAETH

feo-Hue (Videh Madhav) € Saar
fam feg 37

(a) WEITT

(b) wHI<E

(c) dYedmi Qufsre
(d) AHE



88. Consider the following statements
about the agrarian system under the
Delhi Sultanate and Mughal empire :
1. Alauddin Khilji imposed taxes

called charai and ghari.

2. Muhammad bin Tughlaq imposed
additional cesses called abwabs
on the peasants.

3.  Under Akbar, dahsala system of
land revenue existed.

4. Jahangir introduced the nasq
system of assessment.

Which of the above statements are

correct ?

(a) 1,2,3and 4

(b) 1,2 and 3 only

(c) 2 and 3only

(d) 1 and4only

89. Who among the following was the
French explorer who visited the court
of emperor Shah Jahan and left a
detailed account of Takht-i-Taus
(Peacock Throne) ?

(a) Jean Baptiste Tavernier

(b) Geronimo Verroneo

(c) Pierre-Jean

(d) Jean-Paul Dubois

90. Which of the following was popularly
known as the “Firebrand of South
India”?

(a) Radhakrishnan

(b) E.V. Ramaswamy Naicker

(c) Kasturi Ranga Iyengar

(d) S. Satyamurti

91. Who is the current President of FIFA
(The Federation Internationale de
Football Association) ?

(a) Sepp Blatter

(b) Gianni Infantino

(c) Diego Maradona

(d) Pelé

SCS-1

88. f&¥l A®3I®3 W3 Has IH AN ©

89.

~

uItast fAAeH (agrar1an system) g9

Jo fou 3Es =9 -

1. nwegdls fusdt & P =
gt (gharl and charai) H ©
29H BT |

2. HIHT f8& 3II®a & farst Qua
fex g FH ‘vfg<d (abwabs)
e |

3. ndgd © AN, ‘TIA® fAASH
(dahsala system) 9®<T HT |

4. HJHtg & ‘BAK fAASH
system) HJ 37|

gl—lao(ﬁ fed” foa3 fanrs (statement)

AdT 87

(@) 1,2,3n34

(b) o= 1,2 i3 3

(c) d=H 23 3

d) JA=H1 M3 4

HJS € T999 99 »ff & 343-T-36H

(Takht-i-Taus) (Peacock Throne) =T
oo famm?

(nasq

(a) & Tufere <o=Ismid  (Jean
Baptiste Tavernier)

(b) CIGIRY] ERTeIlSS (Geronimo
Verroneo)

(c) Uhig i (Pierlre-Jean)

(d) s u® 3FIMHE (Jean-Paul
Dubois)

90. J5 fefimit feg fam & “Tuz 393 =
efegads” fxar Afer A 2
(a) JUTIHES

91.

(A-31)

(b) . IHEEH afeag

(c) SAIST I nirfearg

(d) . Afsnmygst

gleT (FIFA) T J& Yu& (President)
a= T2

(a) AU 982 (Sepp Blatter)
(b) FHhorat T??%W (Gianni

Infanj:ino) -
(¢c) Far Ha3aT (Diego Maradona)
(d) U (Pelé)




92.

93.

94.
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Which of the following Punjabi writers
have been awarded with the
prestigious Jnanpith Award ?

1. Gurdial Singh

2. Amrita Pritam

3.  Surjit Patar

4. Jaswant Kanwal

Select the correct answer using the
code given below :

(a) 1,2and 3 only

(b) 2 and 3 only

(¢) 1and2only

(d 1,2,3and4

“Chun kar az hameh heelate dar
guzasht,

Halal ast burden bi-shamsher dast”.
This verse is a part of which work by
Guru Gobind Singh ji ?

(a) Chandi di vaar

(b) Zafarnama

(¢) Bichitra natak

(d) Jaap sahib

Consider the following statements :

1. By Pitt’s India Act, the members
of the Governor General’s Council
were reduced to three.

2. Pitt’s India Act abolished the
monopoly of the Company’s
Indian Trade.

3. By Pitt’s India Act, through a
supplementary act, the Governor
General was empowered to hold
the office of commander-in-chief
in special cases.

Which of the above statements is

correct ?

(a) 1 and 2 only
(b) 3only

(c) 1and 3only
(d 1,2and3

92.

93.

94.

(A-32)

3 fommedts yIAaS &% fasrfmim &
gfomm I 2

1. J3fenrs fRw

2. nififsT ffsu

3. HIA3 U39

4. ARSI A<H

Jof f&3 I &3 ©f =93 9o AT €39
ge :

(a) O<H 1,2m3 3

(b) A=H 2 M3 3

(c) oA=H 1 M3 2

d 1,233 4

“g I19 »ig I GBS T9 IAAS,

ISS MAS gI€6 § AHHIT TA3™
feg A39t gg afde flw & < fam

Jgo' feg TIq I57

(a) T8t T =9
(b) HSISHT

(¢c) P37 A
(d) 7 Afag

J& o3 quat 3 fegg &9

1. fiem f&shw e &
JeI6I-A6I% ©f A% & Hud
T fosst wer 3 35 a9 &3t
et |

2. fier S8 nige & qUdt =
333 Tug Gug EFfudrd U3
g fa37i

3. fiuen f&Shm wae T fea yox
mac (Supplementary Act), It
J<I6I-A6I% & UH THST <9
IHFI-fen-die g5 & A3t &
v &3t arsty

Budas feg’ fgoz ACene AT 37

(a) o=H 1 M3 2

(b) o&<H 3
() ATB 13 3
d 1,233



95. While

watching three-dimensional

pictures we need to wear
(a) Magnifying glass
(b) Convex glass

(c) Polaroid glass

(d) None of the above

96. When water is heated from 0 degree

97.

SCS-1

celsius to 10 degrees celsius, how does

its volume change ?
(a) It shall increase
(b) It shall decrease

(¢) It shall first increase and then
decrease

(d) It shall first decrease and then
increase

According to Malthus’s

theory, epidemics, natural calamities

population

and war are known as
(a) Positive checks
(b) - Preventive checks
(c) Policy checks

(d) All of the above

95. EI-3feRoAG® (3D) femH Tuz et

96.

97.

(A-33)

Jo faftmrt fog” fam &t &3 U< 97
(a) HISISTET IBH

(b) T&AH ISH

(c) USITes IHH

d) SuIFs feo It & &t

et g AT 0°C 3°.10°C 3 J9H 13T
Hiar %, fer @ @M (volume) &=
qeHET J 9

(a) feg=uer I

(b) feg weer

(c) ?UWW%W@%HW
d

() ?UWW%»@%H%W
J

H&EH fagdt  (Malthus’s
population theory) WEHATT HHIMIT,

FEIIT MTE3T W3 Har ot TI&?

UYBHS

(a) UTHlfeT 3X
(b) uUdlsfes I
(¢c) UT®AT 9

@ Budxz A9 It



98. With reference to the Memorandum of | 98.
Understanding signed by Punjab
government with the Indian Oil
Corporation in January 2018, consider
the following statements :

1. It aims to find sustainable
solutions to paddy straw burning.

2. It aims to initially establish
50 plants with total investment of
< 5000 crore.

3. The plants will convert bio mass
to compressed bio gas and bio
CNG.

4. There will be supply of
compressed bio gas and CNG to
the other States also.

Choose the correct statements from the

above :

(a) 1and 2 only

(b) 2 and 3 only

() 1,2,3and 4

(d) 1,3 and4 only

99. Which of the following was the latest
member of the group of advanced | 99
industrialized nations transforming
G-7to G-87?

(a) UK

(b) France

(¢) Canada

(d) Russia

100. “Aiti maar payi kurlane tain ki dard | ¢,
na aaya” was written by Guru Nanak
Dev ji after the invasion by
(a) Humayun
(b) Babur
(¢) Ghazni
(d) Ahmad Shah Abdali

SCS-1 (A-34)

Uy Adag w3 fEEShis nifem

IJUIHS feo® Aaedt 2018, feg fea

FHISH wie  wizgrefsar  (MOU)

Jfem I1 BR 979 I5 fodnit AEeRH

T

1. fem & HaAe 38 © &3 § AT
T HAS T J% B3I J |

2. AWt €9 9 T 5000 I3 =F
FAE B 50 UBe AETUS IS |

(d)

far €7 & vaErgey Gedfow =@t ©
AHT G-7 &% Ag 3 npflg R9 73 &
fen § G-8 s=fen 7

(a) TI. (UK)

(b) '
(c)

Sd™
COEN
@ gA

“g3t W9 UTT d9%E, 3 of €9 &
nifen™ g9 &6a €< # & faH urs<t
T IHS 3 g Borfan A

(a) TIHG

(b)

arag
(c)
(d)

JaA
vifoHe 77T nigTst
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